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THE OPEN UNIVERSITY OF SRI LANKA N
BACHELOR OF MANAGEMENT STUDIES DEGREE PROGRAMIVIE 7
FINAL EXAMINATION - NOVEMBER 2011 @
MCU 2207 - MACRO ECONOMICS
DURATION - THREE (03) HOURS

DATE: 12™ NOVEMBER 2011 TIME: 9.30 AM —12.30 NOON
Answer Part A and any three (03) questions from Part B."
- Use of Non- Programmable Calculators are allowed

PART — A

1) a) Details of a three sector economy given as
C =48+ by,, (Consumption)
Margmal propensity to Save (M.P.8) = 0.2
= 62 (Investment Expenditure)

G =40 (Government Expenditure)

T =08 (Autonomous Taxes)
(Figures in Billion Rupees)

i)  Calculate the equilibrium level of National Income.
Find the Expenditure Multiplier and Tax Multiplier.

(5 marks)

ii)  Suppose in addition to the autonomous taxes, the government introduces
an income tax of 10% and transfer payment of 3 billion (ﬁ: 03 ) Find

the equilibrium level of National Income. . .

(5 marks) .

iii) Suppose the government opens the economy and the following changes
take place.

X =36 (Exports)
M =24 + 0.2y (Imports)
Find the equilibrium level of National Income
Calculate the Expenditure Multiplier.
(8 marks)

v}  If the value of domestic currency depreciates and exports changes by 4
billion and autcnomous imports changes by 2 billion, find the new
equilibrium level of National Income,

(5 ’ marks)

v)  Why is the four sectors Expenditure Multiplier is less than the three sector
Expenditure Multiplier? Explain.
(5 marks)
b)  “There are limitations in estimating the national income of a country” Do you
agree? Explain using Sri Lankan economy as an example.
(12 marks)
(Total 40 marks)
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The followmg pohcy trends have been notlceable in the domestlc :
economy in the recent past.

1) A large increase in government expenditure on 1nfrastructure
development.
it) Reduction in the market rate of interest.

ili)  Increase in the reserve requirement of Commercial Banks.

Using IS/LM framework, explain the impact of the above changes on
national economy.
(Use illustrations)

(10 marks)

Explain the impact of Fiscal, Monitory Policies when,
- 1) -Demand for money is highly sensitive to the rate of interest.
it} Demand for money is completely insensitive to the rate of
interest.

(1 0 ma.fks)

How useful are the theories of mﬂatlon in explaining the inflationary
trends in the Sri Lankan Economy? Explain.

(12 marks) -
Discuss the impact of high inflation on business organizations.. - :
(08 marks)
Explain the following
i)  Natural Rate of Unemployment
i) Labour Force Participation Rate
(06 marks)

To what extent the Structural, Seasonal and Induced unemployment
contribute to the level of unemployment in Sri Lanka. What steps should
be taken to reduce these different types of unemployment?

(14 marks)
How could the Population growth affect the economic growth of a
country? Explain.

(7 marks)

“A country could achieve a higher Economic growth, but still lag behind
in Economic development” Discuss, taking Sri Lanka economy as an
example.

(13 marks)
“Cyclical fluctuations in the economy is very much visible in
developed economies” Do you agree? Explain in relation to the recent
econonic trends in the developed economies in the world.

(12 marks)

What is the impact of the above on Sri Lankan Economy? Explain.

(8 marks)
-Rights Reserved-
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